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an extortion ring

Internet auction fraud

reckless motorcyclists

(to) conduct an impartial investigation
large-scale nuclear incidents

~ Passage Translation : (30 4*)
( I ) Please translate the following passage into correct Chinese :

In 1999, a teenage girl was taken from a Haitian orphanage and smuggled — using fake
documentation — into Miami, where she was forced to work as a domestic servant for up to
15 hours a day, seven days a week. She was never paid, not allowed to go to school,
occasionally beaten, and subjected to other inhumane treatment. After suffering for nearly
six years, she managed to escape in 2005. This March, justice was finally served when
three of her captors were convicted in the case. This is just one of hundreds of
heart-breaking human trafficking cases the FBI investigates each year.

( I ) Please translate the following passage into correct English :
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= ~ Reading Comprehension : (20 &)
David:

I’ll be away for a week but my grandfather will let you in to use the computer.
There are a few things you need to know. Brian Lee will call on Tuesday night and ask for
information on our class science project. Please see the appropriately labeled files in the
folder of that name in My Documents. He will ask you some specific questions and you
may answer, but giving him any numerical information from the “SCIPorjData” file is

something we might regret later, because we don’t want other teams to copy our data.
Also, I’ve had some trouble with the computer recently. | wanted to get it fixed last
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week but had no time. There are unexpected crashes about once an hour and
mysteriously deleted files around once a week, so back everything up on an ongoing basis.
The best way is just to burn it onto a CD after you finish working each day, but save your
work every five minutes or so to avoid losing it in a crash.

One last thing: Go ahead and download music if you want but don’t add any new
names to the approved lists for my peer-to-peer music sharing software. | don’t want
strangers poking through my computer.

Have fun!
Jerry
1. What is the relationship between David and Jerry?
Choose the most likely answer from the choices below.

(A) They are brothers. (B)They are co-workers.

(C) They are classmates. (D) They are co-workers of Brian Lee
2. How often should David save files he’s working on?

(A) Each day (B) Every hour

(C) Every week (D) Every five minutes

3. Which of the following isn’t correct?
(A) Brian Lee mustn’t be put on the approved list.
(B) Brian Lee can have some information about the science project.
(C) David hasn’t had his computer fixed recently.
(D) The “SCIPorjData” file has a lot of numbers in it.

Every year in Nepal, young men answer a call to recruitment for one of the most
feared and respected groups of soldiers in the world — the Gurkhas. On a typical year,
28,000 will come, yet only about 230 will be chosen to join the ranks of some 3,500 elite
soldiers. Surprisingly, these soldiers fight not for their own country, but for the United
Kingdom.

During the time of British domination of the Indian subcontinent, British soldiers
encountered many stubborn enemies, though few as tough and warlike as the Gurkhas.
After the Anglo-Nepali war (1812-1815) the British, so impressed by their adversaries,
recruited several regiments of Gurkha soldiers to join the colonial army. They have not
regretted this decision, as the Gurkhas’ incredible toughness, ferocity and loyalty have
won them great respect and many formal honors in numerous conflicts across the world.

Thus, the British Army maintains the Brigade of Gurkhas to this day, although its
soldiers are all Nepalese citizens. In recent years, however, there have been signs of strain
in the relationship. This is due to the growing controversy surrounding the disparity in
pay between the Gurkhas and regular UK servicemen, with the later making far more
money than the former.

4. Why is there growing strain in the relationship between the Gurkhas and the British Army?
(A) The Gurkhas make more money than the regular UK servicemen.
(B) The Gurkhas make less money than the regular UK servicemen.
(C) The Gurkhas are Nepalese but serve in the British Army.

(D) Not enough Gurkhas are chosen from among the potential recruits.

5. The word “surrounding” is underlined to mean ...
(A) On all sides (B) Close to
(C) Between (D) About

6. Which of the following is true?
(A) Only 230 out 3,500 recruits are selected annually.
(B) Only 3,500 out of 28,000 recruits are rejected annually.
(C) Only 230 out 28,000 recruits are selected annually.
(D) Of 28,000, approximately 230 are rejected annually.
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7. Which of the following would be the best title for this article?
(A) The Soldiers of Nepal (B) A History of the Gurkhas
(C) The Gurkhas, Fierce and Loyal Soldiers (D) Money Problems in the British Army

A seized goods auction sale will take place at 8 AM on Friday, December 10" at the
Yellow Dog Fairground in Carleton Place Township. The fairground is located on
Highway 15 just north of the town center. For sale by auction will be light trucks, SUVs,
sedans, motorcycles and off-road vehicles. Most of these approximately 800 vehicles have
been judicially confiscated for use in federal crimes. Others have been repossessed for
failure to meet the payment schedule. All vehicles have been given basic overall
mechanical appraisal and repairs. They have also been cleaned and are free from all
stains and illegal materials.

All interested members of the public 18 years old and above are invited to the
fairground at the above time and place. All potential buyers must register in advance of
the auction and may do so on-site or through our website, www.CPpolice.gov.
Registration must be completed before 8 AM. Bidders must have credit cards with
verifiable limits above the sale price, or pay by cash or cashier’s check. Security at the
site will be provided by the Carleton Place Sheriff’s department. To view our catalogue,
please see our website.

8. Why are most of these vehicles being offered for sale?

Choose the best possible answer from the choices below.
(A) Because there is an auction.
(B) Because they were confiscated from rich people.
(C) Because they were used in crimes.
(D) Because they were too expensive for the police.

9. What is something that ISN’T required in order to participate in the auction?
(A) Prove of age (B) Knowledge of vehicles
(C) Advanced registration (D) The necessary funds

10.The word “fairground” used repeatedly in the article is closest in meaning to which of the
following definitions?
(A) Police-owned land
(B) A place where the prices are fair
(C) Aplace where dogs can live
(D) Open space used for exhibitions and similar events

z ~ Essay : (30 &)
Plan and write an essay on “What Makes What You Are Today ? ”

1780 Google #= \\%?ﬂ%%%qj't’"%%/ﬁﬂﬁﬁ”

VREZERZGAEN ERRERBEEN LBEOLS

BERMGE CHTHRR

FEIE—SWEHZARAR CREHEN
SEEYN ”ﬁ-%f%ﬁf—r%ﬁ ST-Bras EE
EARERS © 07-2233812
Bragihit - SEMIEERPIE I 222 55 3187 2
LINE #&5% : godtrain

U EZESBZNHBERESERRERPREZAZEHEE
SRABBRSMUZESEER



http://www.cppolice.gov/

AN AR R B e @ L B R SRR YRR R e L i B 2 LINE [[=BE godtrain

P ERABI0LFERALII B B

t‘l-i- F“,]J:)/éﬁl-i-
7fd P Ix~

TERARER
1. AFREEE 4 <38 £ 4 F -
2.7 F ¥R W AP AAEITE 0 BRI B4 o

.82 % 3 (T ¥ ,_@iﬁx SR

|

~ Vocabulary : (20 #)

1. Is the pat-down of a person’s outer clothing after a stop to see if the suspect has a weapon
or something that feels like a weapon, which can be seized by the officer.
(A) Search (B) Arrest
(C) Frisk (D) Crack-down
2. Sharp objects and flammable items are on the aircraft.
(A) prohibited (B) promoted
(C) admitted (D) permitted
3. Is the crime of deceiving people in order to gain something such as money or
goods.
(A) Piracy (B) Murder
(C) Larceny (D) Fraud
4. Technical curricula are requisite in a wide range of fields.
(A) assimilated (B) promoted
(C) demanded (D) acquired

5. The expansion of public services has caused concern that the civil service branches are
becoming autonomous powers.
(A) independent (B) advanced
(C) superior (D) perilous

6. Crowd behavior is characterized as a spontaneous collective reaction to a publicly observed
event.
(A) chaotic (B) gratifying
(C) instinctive (D) uninterrupted

7. Because of his novel approaches to scientific problems, Edison was able to patent dozens of
inventions.

(A) original (B) varied
(C) coherent (D) unbiased
8. The fire salamander is so called because of an antiquated belief that it could withstand fire.
(A) well-developed (B) old-fashioned
(C) carefully fabricated (D) widely held
9. The engineer had a reason for changing the design of the building.
(A) peculiar (B) legitimate
(C) sharp (D) subsequent
10. The recent downturn in the housing industry the poor economic conditions.
(A) radiates (B) symbolizes
(C) spans (D) synthesizes
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~ Translation : (30 4*)

1. Policy assessment studies in the 1970s cast doubt on the effectiveness of these strategies for
preventing crime. For instance, the experimental study of preventive patrol in Kansas City
found that changing the level of patrol coverage had no effect on crime and citizen fear of
crime. Other evaluative research showed that rapid response to calls for service from citizens
didn’t increase the likelihood of preventing a crime or apprehending an offender. Finally,
evidence from dozens of studies suggests that traditional police strategies to reduce, control, or
prevent crime are ineffective.

1y

2. The safeguards introduced under the Police and Criminal Evidence Act, such as an impartial
custody officer, a right to free legal advice, strict time limits on the length of detention and the
tape-recording of interviews, have subsequently made it more difficult for the police to engage
in ‘fishing expeditions’, to detain suspects without firm grounds for doing so, to make informal
deals with them or to apply physical or psychological pressures to induce them to confess.

3. In a study of miscarriages of justice in the USA where the convicted person had subsequently
been completely exonerated as a result of DNA testing, it was found that the most common
contributory factor was mistaken identity, which occurred in 52 percent of the cases.
Caucasians misidentified African-Americans defendants in 35 percent of the cases, but
African-Americans also misidentified other African-Americans in 24 percent of the cases.

'

~ Reading Comprehension : (20 %)

Concern for the environment in the US extends back into the nineteenth century, when nature
lovers and sports enthusiasts first sought protection for areas of exceptional natural beauty or
significance. But it was not until the late 1960’s that environment concerns entered the
mainstream of American political debate. By then many Americans had come to the conclusion
that more development was not necessarily desirable, especially if it meant more polluted air,
dying lakes and rivers, and a landscape strewn with unsightly waste, and crowded with sprawling
construction projects. In May of 1970, several environmental groups staged the first Earth Day
celebration, designed to heighten public awareness of environmental problems. The success of
that initial effort led to it becoming a regular annual event.

During the 1950s and 1960s, industrial and vehicle pollution levels had become a serious
threat to public health, so the environmental movement of this period focused heavily on
restoring and ensuring the cleanliness of basic air and water supplies. Rapidly expanding
development pressures were also spurring efforts to preserve unique lands and threatened
wildlife habitats, and to protect the endangered species supported by them before they vanished
into extinction. It is generally accepted that the environmental protection movement was so
successful because of its grass roots support; groups of activists in hundreds of towns that took
the initiative in cleaning up their own communities. During the 1970s, this local activism
reinforced support for the passage of key laws at the national level, such as the Clean Water Act,
Clean Air Act, Endangered Species Act, and National Environmental Policy Act, which together
have constituted the foundation for environmental standards in the US ever since.

In addition to this national legislation, the year after the first Earth Day, by executive order,
President Nixon established the Environmental Protection Agency (EPS); an organization
dedicated to restoring and protecting the environment. The EPA spearheaded many
contemporary efforts to protect the environment, but it was not working alone. It was allied with a
wide variety of distinctly different and separate organizations ranging from a small number of
well-funded high-profile national and international organizations to many thousands of smaller
special interest groups and even individuals working at the local level. The EPA has now become
one of the government’s largest and most influential regulatory agencies. Through its own efforts
and in cooperation with other organizations, it has earned a large measure of credit for protecting
and restoring the quality of the environment in the United States.

Although one might assume that the cause of environmental protection would engender

A

B~ 2
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universal support, it does have its detractors. One criticism that has been leveled against the
movement is the claim that its predictions about the dire consequences of environmental damage
have often been in error. Environmentalists counter this assertion by pointing out that their
warnings have often brought about changes on the part of the public, the government and private
industry, and that these changes prevented the predictions from being realized. However, just as it
Is often very difficult to gauge the impact of human activity on something as complex as the
environment, it is equally difficult to determine which side is right in this debate. Because
environmental issues cover such a wide range of concerns, this is a question that must be
considered on a case by case basis. These voices of dissent have demonstrated to
environmentalists the need to apply quantitative methods in assessing the extent of the destruction
they have witnessed, or the degree to which their work has been manifested in actual
Improvement of the environment.

However vocal the critics of environmental protection efforts may be, given the very
considerable body of environmental legislation that exists, it is safe to assume that their views do
not represent the majority opinion. Private advocacy groups, the EPS, state legislatures and
Congress have worked together to enact numerous laws regarding air and water quality, land use
and waste management. That should be evidence enough of the broad extent of the popular
support that underlies the movement.

1. On which of the following does the passage mainly focus?
(A) Earth Day’s impact on the environmental movement.
(B) How to protect the environment of the planet.
(C) The environmental protection movement, and how it began.
(D) The success of the EPA in protecting natural resources.
2. The word spurring in the passage is closest in meaning to
(A) opposing (B) managing
(C) supporting (D) motivating
3. According to paragraph 2, why was the environmental protection movement so widely
successful?
(A) It protected plants and animals people cared about.
(B) It functioned well at the local level.
(C) It voted unsympathetic politicians out of office.
(D) It forced ratification of important national laws.
4. Which president established the EPA?

(A) Roosevelt (B) Clinton
(C) Nixon (D) Obama
5. The word spearheaded in the passage is closest in meaning to
(A) led (B) inspired
(C) conceived (D) modified

6. According to paragraph 4, what was a common criticism of the environmental movement?
(A) Itsuggested measures that would harm the economy.

(B) It predictions could not be prevented through practical action.
(C) That it lacked the support needed to make any real progress.
(D) The environmental damage it claimed was not seen.
7. According to the passage, what effect did the criticism of the environmental movement have?
(A) It caused the environmentalists to change their methods.
(B) It decreased federal assistance for environmental protection.
(C) Itdiminished popular support for the EPA.
(D) Itrevitalized support for the environmental protection movement.
8. Which of the sentences below best expresses the essential information in the underlined

w23
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sentence in the passage?

(A) Critics of the movement were successful in dissuading many environmentalists from
supporting some of the more drastic measures that had been suggested by questioning the
quantitative methods they employed.

(B) Opponents of the environmental protection movement succeeded in getting the activists to
take another, more objective, approach to substantiating their claims.

(C) People who disagreed with the environmentalists eventually were able to persuade many
that the methods employed by the environmental movement were invalid and their
conclusion incorrect.

(D) Members of environmental groups were reluctant to employ quantitative methods in
assessing environmental damage because they felt the results might not substantiate their

claims.
9. The word dire in the passage is closest in meaning to
(A) unrealized (B) possible
(C) grave (D) imaginary
10. The word dissent in the passage is closest in meaning to
(A) opposition (B) support
(C) indifference (D) ambivalence

2z ~ Essay : (30 &)
Write an essay on the following topic: Information technology in policing and its impacts
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- ~ Vocabulary and Phrases into English or Chinese : (20 &)

1.

2
3.
4
5

il 6. red-handed offender

. BT 7. vehicle impoundment
TFAE T 8. security breach

. p 9. malefactor

ok AR R 10. avian influenza

= ~ Passage Translation : (30 &)

1.

For many years, the law enforcement community has attempted to detect impaired
drivers through numerous innovative efforts and measures. The problem of driving under
the influence is well known throughout society, yet, even with all of the strategies used to
remove these drivers from U.S. highways, it continues to cause needless and tragic loss
of life each year. When will such madness end? When will society no longer tolerate
drunk driving? Until that time, the law enforcement community must attempt to

contain the carnage inflicted upon law-abiding citizens by impaired drivers.
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= ~ Reading Comprehension : (20 &)
Q)

Internet dating has gone from daring to dull. As a result, many singles these days are
looking to their cell phones instead of their laptops in an effort to locate love.

Cell phone technology now allows users to post tiny photographs and mini-profiles to a
dating service mailbox, which can be visited by other cell phone users in search of a date.
When a profile looks promising, users use their phones to send a text message to their person
of interest.

Some phone dating services also are experimenting with ways to turn cell phone into
homing devices. In other words, the phones can alert users to potential dates who may be
just a short distance away — or, at the other end of the bar.

Europeans are heavily into phones dating, and China, which has 430 million cell phone
users, also has embraced “mobile romance.”

The wireless service providers love phone dating, too, because all that text messaging
pumps up their revenues. Analysts estimate that global mobile dating revenues were US
$31 million in 2005; by 2009, that figure is projected to reach US $215 million.

Some people say that phone dating is more about flirting than about serious romance.
“People who want to use their mobile devices are more interested in short-term relationships
than people who want to use their computers,” said an officer of Match.com, a service with a
quarter-million mobile users.

But, who really can say for sure. The next time the cell phones rings, it could be one
calling Cupid.

1. Which is the function the dating service can offer through cell phones?

(A) Alerting users to potential dates.
(B) Increasing user’s revenues.
(C) Holding a wedding.
(D) Giving a gift to possible dates.
2. How can someone get information on any possible date on their cell phones?
(A) By asking the operator.
(B) By making an emergency call.
(C) By using a laptop.
(D) By looking at mini-photos in a dating mailbox.
3. Who may gain the most advantage of cell phone dating economically?
(A) Users.
(B) Possible dates.
(C) The wireless service suppliers.
(D) The store owners.
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4. What are cell phone romance seekers often interested in?
(A) Shorter-term relationship.
(B) Getting a new laptop.
(C) Finding other phone users.
(D) Short distance calling.

ﬁqﬁiﬁ?‘%& LINE [[=5¥" godtrain

5. According to this passage, which of the following statements is NOT true?
(A) Many unmarried people use their cell phones rather than laptops to locate love.

(B) Match.com has two hundred thousand mobile users,
(C) European people like phone dating.
(D) Internet dating has gone from daring to uninteresting.

(1

Outstanding opportunity with local real estate corporation.
Requires strong background in real estate, financing,
closing. Some legal training helpful. Prefer candidate
with M.A. and two or more years of successful real estate
experience. Broker’s license required. Salary range
$16,000-$23,000 commensurate with education and
experience. Begin immediately. Interviews will be
conducted Tuesday and Thursday, June 10 and 12. Call
for an appointment 243-1153, or send a letter of application
and résume to:

Personnel Department

Executive Real Estate Corporation
500 Capital Avenue
Lawrence, Kansas 67884

6. Which of the following is NOT a requirement for the job advertised?

(A) At least two years experience.
(B) A broker’s license.

(C) An M.A.

(D) Extensive legal training.

7. The salary range indicates that
(A) everyone earns a beginning salary of $16,000.

(B) the salary depends upon the amount of education and work experience that the

applicant has.
(C) some applicants would earn less than $16,000.
(D) candidates with an M.A. would earn $23,000.
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8. What should an interested candidate submit with his or her application?
(A) A current address and telephone number.
(B) A signed contract.
(C) A summary of work experience.
(D) A request for employment.

9. This passage would most probably be found in
(A) the classified section of a newspaper.
(B) a college catalog.
(C) a textbook.
(D) a dictionary.

10. Real estate employees would most probably

(A) persuade people to buy insurance.
(B) sell houses.

(C) give professional opinions on personnel management.
(D) teach people how to do bookkeeping.

z ~ Essay : (30 &)

Write an essay on the following topic. The length of your essay should be no less than 100

words and no more than 200 words.

How to Create an Anti-Graft Society
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— ~ Vocabulary and Phrases translation : (20 4 )
AR

Jo B iz

N

Y
l
HRE T AR R
a motor bike
acute stress disorder
cloned cars
9 ~ electronic monitoring

10 ~ intelligence apparatuses
= ~Translation : (30 #)

1 ~ We have investigated the alarm and there is a small fire on the fourth
floor. The fire department has arrived and the fire has been contained.
We are asking everyone to leave the building in an orderly fashion.
Exit through stairwell B on the south side of the building.

2 ~ As people start using their smart phones to tap into computer networks,
the damage caused by malware could grow more severe. If smart
phones serve as payment devices, malware that nabs your identity and
taps directly into your credit line could follow.

3 ~ In an unprecedented effort to save the species, South Africa has bought
new ships equipped with top-of-the-line military night-vision
equipment. They've also begun testing seized boats for DNA to prove
they were used in abalone harvesting.

= ~ Reading Comprehension : (20 &)
Most people can remember a phone number for up to thirty seconds.

When this short amount of time elapses, however, the numbers are erased
from the memory. How did the information get there in the first place?
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Information that makes its way to the short term memory (STM) does so via
the sensory storage area. The brain has a filter which only allows stimuli that
Is of immediate interest to pass on to the STM, also known as the working
memory.

There is much debate about the capacity and duration of the short term
memory. The most accepted theory comes from George A. Miller, a
cognitive psychologist who suggested that humans can remember
approximately seven chunks of information. A chunk is defined as a
meaningful unit of information, such as a word or name rather than just a
letter or number. Modern theorists suggest that one can increase the capacity
of the short term memory by chunking, or classifying similar information
together. By organizing information, one can optimize the STM, and
improve the chances of a memory being passed on to long term storage.

When making a conscious effort to memorize something, such as
information for an exam, many people engage in "rote rehearsal". By
repeating something over and over again, one is able to keep a memory alive.
Unfortunately, this type of memory maintenance only succeeds if there are
no interruptions. As soon as a person stops rehearsing the information, it has
the tendency to disappear. When a pen and paper are not handy, people often
attempt to remember a phone number by repeating it aloud. If the doorbell
rings or the dog barks to come in before a person has the opportunity to
make a phone call, he will likely forget the number instantly. Therefore, rote
rehearsal is not an efficient way to pass information from the short term to
long term memory. A better way is to practice "elaborate rehearsal”. This
involves assigning semantic meaning to a piece of information so that it can
be filed along with other pre-existing long term memories.

Encoding information semantically also makes it more retrievable.
Retrieving information can be done by recognition or recall. Humans can
easily recall memories that are stored in the long term memory and used
often; however, if a memory seems to be forgotten, it may eventually be
retrieved by prompting. The more cues a person is given (such as pictures),
the more likely a memory can be retrieved. This is why multiple choice tests
are often used for subjects that require a lot of memorization.

1 ~ According to the passage, how do memories get transferred to the
STM ?
(A) They revert from the long term memory.
(B) They enter via the nervous system.
(C) They get chunked when they enter the brain.
(D) They are filtered from the sensory storage area.
2 ~ The word elapses in paragraph 1 is closest in meaning to :
(A) continues
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(B) adds up
(C) appears
(D) passes
3 ~ All of the following are mentioned as places in which memories are
stored EXCEPT the :
(A) STM
(B) long term memory
(C) sensory storage area
(D) maintenance area
4 ~ Why does the author mention a dog's bark
(A) To provide a type of interruption
(B) To give an example of a type of memory
(C) To prove that dogs have better memories than humans
(D) To compare another sound that is loud like a doorbell
5 ~ How do theorists believe a person can remember more information in a
short time ?
(A) By organizing it
(B) By repeating it
(C) By giving it a name
(D) By drawing it

6 ~ The author believes that rote rehearsal is :
(A) the best way to remember something
(B) ineffective in the long run
(C) more efficient than chunking
(D) an unnecessary interruption
T ~ The word it in the last paragraph refers to :
(A) encoding
(B) information
(C) semantics
(D) STM
8 ~ The word elaborate in paragraph 3 is closest in meaning to :
(A) pretty
(B) efficient
(C) complex
(D) regular
9 ~ Which of the following is NOT supported by the passage ¢
(A) The working memory is the same as the short term memory.
(B) A memory is kept alive through constant repetition.
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(C) Multiple choice exams are the most difficult.
(D) Cues help people to recognize information.
10 ~ The word cues in the passage is closest in meaning to

(A) clues
(B) questions
(C) images
(D) tests
z ~ Essay : (30 &)
Write an essay on the following topic. The length of your essay should
be no less than 100 words and no more than 200 words. In your opinion,
does "Sunflower Movement" create a new threat to Taiwan’s national

security ?
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— ~ Vocabulary and Phrases : (20 & )

(=) 5= (=) @3 6p

(=) pip# B (=) Bz

(z) % &RHE (~) Bz

() Bk F L& (1) 8% p

(1) 23t (L) ps2s

= ~ Translation : (30 & )

(- ) For at least half a century, police have considered it important to cut to a
minimum of their response times to crime calls. The faster the response, they
have reasoned, the better the chances of catching the criminal at or near the
scene of the crime. (10 4 )

( = ) Officers shall not use their police power to resolve personal grievances (e.g.

those involving the officer, family members, relatives, or friends) except under
circumstances that would justify the use of self-defense, actions to prevent
injury to another person, or when a serious offense has been committed that
would justify an arrest. (10 4 )

( = ) The essence of the police role in maintaining order is to reinforce the informal

—

- A)
—

control mechanisms of the community itself. Areas where community controls

break down are vulnerable to criminal investigation. (10 4 )
Reading Comprehension : (20 & )
Another large-scale study conducted by William Spelman and Dale Brown and
published in 1984 was also to challenge a core police assumption of that period —
that improvement in rapid response to calls for service would lead to
improvements in crime fighting. This study was developed in good part because
of the findings of a prior investigation in Kansas City that found little support for
the crime control effectiveness of rapid response to calls for service (Kansas City
Police Department 1977). With support from the National Institute of Justice,
Spelman and Brown investigated 4000 victims, witnesses, and bystanders in
some 3300 serious crimes in four American cities. This was another major study
in terms of the resources brought to bear and the methods used. Again it
examined a strategy that was aided by technological advances in the twentieth
century and that was central dogma of police administrators — that police must get
to the scene of a crime quickly if they are to apprehend criminal offenders.
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( ~ ) “dogma of police administrators

z ~ Essay : (30 &)
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Write an essay on the following topic. The length of your essay should be no less
than 100 words and no more than 200 words
“Mobile Police Station” and its Impacts
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« (@)% ¥ f& 4 pe (normal distribution) X = N(z,0?) » f6s £ 4 & a8k
(moment generating function) My (t) (13 ~)

(b) B3k 4T 1% % #ie(random variable) X 4+ Y j = (independent) » ZZF

m, . (t)=m,Em, () (7 »)
©)E®x X fo Y M= » X=N(g,02)» Y=N(g,02) » zp X +Y jr
N(,ul+,uz,c71 +c72) (5 &)

z ~ % % Bic (random variable) X =n#p i & (expected value, mean, L35
i) M 2 %R ¥ (variance) o2, Xi,.., Ko L - mrEEE A
(random sample, Xi,..., X, @tz o B 49k 3 5 A pe)

(s rTom  (3A)
b)yzs#Er+%2& (B ~)
(C)FEM e &~ T 2 d_U ch% iy w3t (unbiased estimator) (5 4°)
()P %+ %2 #F o 7 izt 8 (unbiased estimator) (12 4")

1780 Google é:ﬁq:‘.r%qj’b\'ﬂ% Hgﬁ”

VREZERZGAEN ERRERBEBEN LBEOLE

BERMGE CHTHRR
EEME—FWEHZ AR DR IREE DT

ESRAB-ERGZMIBN-MEEN
EAERE © 07-2233812
Brag it - SEMIEERDPIE K 222583187 2
LINE #&5% : godtrain

U EZEEEZNHBERESERRERPREZADEREE
SRABBRNSUZESEER




ot EIH_!_‘;T‘I—ﬁ%%l \\%’Fﬂ'@\”ﬁ] + ]:I e F'IJ L

;-x g:;ﬁ//{l

I

CURHFPH R - |

1

A L- 5 A pe i

L 2= 28 LINE [|=5%" godtrain

0 e
*ASEETZARHETE
HEE|.995 990 .975 .950 .900 .100 .050 .025 .010 .005
1 0.000 0.000 0.001 0.004 0016 2706 3841 5024 6635 7.878
2 0.010 0.020 0.051 0103 0211 4605 5991 7378 9210 10597
3 0.072 0.115 0216 0352 0.584 6251 7.815 9348 11345 12.838
4 0.207 0297 0484 0711 1064 7.779 9488 11.143 13.277 14.860
5 0412 0554 0831 L1145 1610 9236 11.070 12.833 15.086 16.750
6 0.676 0.872 1237 1635 2204 10.645 12.592 14449 16.812 18.548
7 0989 1239 1.69 2167 2.833 12017 14.067 16.013 18475 20278
8 1.344 1.646 2180 2733 3490 13362 15.507 17.535 20.090 21955
9 1.735 2.088 2700 3325 4.168 14.654 16919 19.023 21.666 23.589
10 2.156 2558 3247 3940 4.865 15987 18307 20483 23.209 25.188
11 2.603 3.053 3816 4575 5578 17275 19675 21.920 24.725 26.757
12 3.074 3571 4404 5226 6304 18549 21.026 23.337 26.217 28.300
13 3:565 4.107 5009 5892 7042 19.812 22362 24.736 27.688 29.819
14 4.075 4.660 5.629 6571 7.790 21.064 23.685 26.119 29.141 31.319
15 4601 5229 6262 7261 8.547 22307 24996 27.488 30.578 32.801
16 5142 5812 6908 7962 9312 23.542 26296 28.845 32.000 34267
17 5697 6408 7564 8.672 10.088 24769 27.587 30.191 33.409 35.718
18 6.265 7.018 8231 9390 10.865 25989 28.869 31.526 34.805 37.156
19 6.844 7.633 8907 10.117 11.651 27.204 30.144 32.852 36.191 38587
20 7434 8260 9.591 10851 12443 28412 31410 34.170 37.566 39.997
21 8.034 8897 10283 11.591 13.240 29.615 32.671 35479 38932 41.401
22 8.643 9.542 10982 12.338 14.041 30.813 33.924 36.781 40.289 42.796
23 9.260 10.196 11.689 13.091 14.848 32.007 35.172 38.076 41638 44.181
24 0886 10.856 12401 13.848 15659 33.196 36415 39364 42980 45559
25 10.520 11.524 13.120 14.611 16473 34382 37.652 40.646 44314 46928
26 11.160 12.198 13.844 15379 17.292 35563 38.885 41923 45.642 48290
27 11.808 12.879 14.573 16.151 18.114 36.741 40.113 43.195 46,963 49.645
28 12461 13.565 15.308 16.928 18939 37916 41337 44461 48278 50.993
29 13,121 14256 16.047 17.708 19.768 39.087 42.557 45.722 49.588 52.330
30 13.787 14.953 16.791 18493 20.599 40256 43.773 46979 50.892 53.672
40 20.707 22.164 24.433 26.509 29.051 51.805 55.58 59342 63.691 66.766
50 27.991 29.707 32357 34.764 37.689 63.167 67.505 71.420 76.154 79.490
60 35.534 37485 40482 43188 46.459 74397 79.082 83298 88379 91952
70 43275 45442 48758 51.739 55329 85527 90531 95.023 100425 104.215
80 51172 53540 57.153 60391 64278 96.578 101.879 106.629 112.329 116.321
90 59.196 61.754 65.647 69.126 73.291 107.565 113.145 118.136 124.116 128299
100 67.328 70.065 74222 77929 82358 118498 124342 129561 135.807 140.169




AN AR R B e @ L B R SRR YRR R e L i B 2 LINE [[=BE godtrain

A 2-t A Ak

t—-DBEREREDE t.(d f)

(81

d.f. 2 . .05 025 01 .005

] 1.000 3.078 6.314 12.706 31.821 63.657
2 816 1.886  2.920 4.303 6.965 9.925
3 765 1.638 2.353 3.182 4.541 5.841
-+ 41 1.533 2.132 2.776 3.747 4.604
5 27 1.476  2.015 2571 3.365 4.032
6 718 1.440 1.943 2.447 3.143 3.707
7 711 1.415 1.895 2.365 2.998 3.499
8 706 1.397 1.860 2.306 2.896 3.355
9 703 1.383 1.833 2.262 2.821 3.250

10 700 1572 1.812 228 2.764 3.169

11 .697 1.363 1.796

12 9 2.681 3.055

7
13 694 1.350 1.771 160 2.650 3.012

0.2
201 2718 3.106
1
1
14 .692 1.345 1.761 .145 2.624 2977

2
2
.695 1.356 1.782 2i
2
2

15 691 1.341 1.753 2.131 2.602 2.947
16 .690 1.337 1.746 2.120 2.583 2.921
17 689 £.333 1.740 2110 2.567 2.898

18 | 688F 1330 1754 210 255% 2878
9] G 138 175 2008 253 @ 2861
301 687 1328 1725 22086 2538 2845
21 686 1323  1.721 2080 2518 283
22 | .686 1. 17 o0 2508 2819
23] 685 1319 1714 2069 2500 @ 2180
94| 685 1318 1711 2064 2492 2797
25 | 684 1316 1708 2060 2485  2.787
26 | 68¢ 1315 1706 2056 2419 2719
271 684 1314 1700 2050 2418 27
23| 68 1313 13061 2048 2467 . 276
29 | 683 1311 1699 2045 2462 2756
30| 683 1310 1697 2082 24%  _a0Ne
40 | 681 1303 1684 2021 2423 2704
60 | 679 1296 1.671 2000 2390  2.660
120 | 677 1289  1.658 1980 2358 2617
oo 674 1282 1645 1960 2326  2.576




o S AR N L L

Fi = i

SR IR Hi e |

E

1

A-"H

it 3- ¥ e ik

2(Z<L2) :
//%//1\

L 2= 28 LINE [|=5%" godtrain

z0
z | .00 .01 .02 .03 . 04 .05 . 06 .07 .08 .09
=3.5(.0002 .0002 ,0002 .0002 .0002 .0002 0002 .0002 .0002 .0002
—3.4|.0003 .0003 .0003 .0003 .0003 .0003 .0003 .0003 .0003 .0002
—3.3| .0005 .0005 .0005 .0004 .0004 .0004 0004 0004 0004 0003
—3.2| .0007 .0007 .0006 .0006 .0006 .0006 .0006 .0005 .0005 .0005
—3.1|.0010 .0009 .0009 .0009 .0008 .0008 .0008 .0008 .0007 .0007
=3.0].0013 .0013 ,0013 :0012 0012 .0011 .00l .0011 .0010 0010
—2.9).0019 .0018 .0018 .0017 .0016 .0016 0015 0015 .0014 0014
—2.8].0026 .0025 0024 .0023 0023 ,0022 0021 .0021 .0020 .0019
—2.7| .0035 .0034 .0033 .0032 ,0031 .0030 .0029 .0028 .0027 .0026
—2.6| .0047 .0045 .0044 .0043 0041 ,0040 .0039 0038 .0037 .0036
—2.5| .0062 .0060 .0059 0057 0055 ,0054 .0052 .0051 .0049 0048
—2.4| .0082 .0080 .0078 .0075 .0073 0071 .0069 .0068 .0066 .0064
—2.3].0107 .0104 .0102 .0099 .0096 .0094 0091 .0089 .0087 .0084
—=2.2| .0139 .0136 .0132 .0129 .0125 ,0122 .0119 .0116 .0113 .0L10
—2.1].0179 .0174 .0170 .0166 .0162 .0158 .0154 .0I150 .0146 .0143
—2.0].0228 ,0222 .0217 .0212 0207 ,0202 .0197 .0192 .0188 .0183
—1.9].0287 .0281 .0274 .0268 .0262 .0256 .0250 .0244 .0239 0233
—1.8].0359 .0351 0344 .0336 .0329 .0322 .0314 .0307 .0301 .0294
—1.7|.0446 .0436 0427 ,0418 0409 .0401 .0392 .0384 .0375 . 0367
—1.6)| .0548 0537 ,0526 .0516 ,0505 .0495 0485 .0475 .0465 . 0455
—1.5[.0668 .0655 .0643 .0630 0618 .0606 .0594 .0582 .0571 . 0559
—1.4].0808 ,0793 .0778 .0764 .0749 0735 .0721 .0708 .0694 .068I
—1.3[.0968 .0951 .0934 ,0918 .0901 .0885 .0869 .0853 .0838 .0823
—1.2) . 1IS1 1131 .1112 .1093 .1075 .1056 .1038 .1020 .1003 .0985
—1.1} . 1357 1335 .1314 .1292 .1271 1251 .1230 .1210 .1190 1170
—1.0].1587 .1562 .1539 .1515 .1492 1469 .1446 .1423 .1401 1379
—.9|.1841 .1814 .1788 .1762 .1736 .1711 .1685 .1660 .1635 .1611
—.8|.2119 .2090 .2061 .2033 ,2005 .1977 .1949 .1922 .1894 1867
—.7|.2420 2389 ,2358 .2327 .2297 .2266 .2236 .2206 .2177 .2148
—.6(.2743 .2709 .2676 .2643 .2611 .2578 .2546 .2514 .2483 .2451
—.5|.3085 .3050 .3015 .2981 .2946 .2912 .2877 .2843 .2810 .277
—.4).3446 .3409 .3372 .3336 .3300 .3264 3228 .3192 .3156 3121
—.3|.3821 .3783 .3745 ,3707 .3669 .3632 3594 3557 .3520 3483
—.2].4207 .4168 4129 .4090 ,4052 .4013 3974 .3936 .3897 .3859
—.1].4602 ,4562 .4522 4483 ,4443 4404 _4364 .4325 .4286 4247
—.0]1.5000 .4960 .4920 4880 .4840 .4801 .4761 .4721 .4681 464l
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& 4-F 2 pe ik

‘.105
0 F
Zans i =)::li s
a=0.05 1 2 3 4 5 6 7 8 9 10
1 161.5 199.5 215.7 224.6 230.2 234.0 236.8 238.9 240.5 241.9
2 |18.51 19.00 19.16 19.25 19.30 19.33 19.35 19.37 19.38 19.40
3 [10.13 955 928 9.12 9.01 894 889 885 881 8.79
4 771 694 659 639 626 6.16 609 6.04 6.00 596
5 661 579 541 519 505 495 488 482 477 4.4
6 599 5.14 476 453 439 428 421 4.15 4.10 4.06
7 559 4.74 435 4.12 397 387 379 3.73 3.68 3.64
8 532 446 4.07 384 3.69 3.58 350 344 3.69 3.35
9 5.12 426 3.8 3.63 348 337 329 323 3.18 3.14
7 10 496 4.10 3.71 348 333 322 3.14 3.07 3.02 298
g 1 484 398 359 336 320 3.09 3.01 295 290 2.85
B 12 475 389 349 326 3.11 3.00 291 285 280 275
B 43 467 381 341 3.18 3.03 292 283 277 271 267
14 460 3.74 334 3.11 296 285 276 270 265 2.60
15 454 3.68 329 3.06 290 279 271 261 259 254
16 449 363 324 301 285 274 266 259 254 249
17 445 359 320 296 281 270 2.61 255 249 245
18 441 355 3.16 293 277 266 258 251 246 241
19 438 3.52 3.13 290 274 263 254 248 242 238
20 435 349 3.10 2.87 271 2.60 251 245 239 2335
21 432 347 3.07 284 2.68 2.57 249 242 237 232
22 430 344 305 282 266 255 246 240 234 230
23 428 342 3.03 280 264 253 244 237 232 227
24 426 340 3.01 278 2.62 251 242 236 230 2.25
25 424 339 299 276 2.60 249 240 234 228 224
30 4.17 3.32 292 269 253 242 233 227 221 2.16
40 408 323 284 261 245 234 225 218 212 2.08
50 403 3.18 279 256 240 229 220 2.13 2.07 2.03
100 | 3.94 3.07 270 246 231 219 210 203 197 193

2 B 6

-~
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P L ERAF 0l FERALFI B BB

»

o w R E IR 4
%ﬂ. 2 QSE i;‘l‘

TEFALRETR
loaiEs 442> =42 L E 264 0 X 2F -
2.7 FF)RE >V ARAEPD XA IFE > R RT BEEE o

3#‘?{&,{1’?5 ’E’g%%}%"‘/} .

-~ BRRRALE B R i g 2 ’@:”‘*iﬁ»’j& (Poisson) 4 fie » ¥ & %4
%i%ﬁ??”‘&#]f/} lzfiA1’<1>'i‘ @;g m-—’]—i’lﬁﬁt& ‘l:"v}: }7}_:‘% f;
S (DEE- B B BRI o RE (DFF R - B

EF AN T EARBZ BT L 50?2 (254)

S B - TERT A AL - gt m]m/ﬁfé‘_ B f /ﬁ'}g:/%)i._LF#&»
AR ST RO T R PER S 45 40 51 55 59 50
(mg/dl) - 3fe3t M- 38 (L5437 fﬁ%k@:) A g R i
9% R R R > A K2 AR o $F HelE 1 Z,,=1.645
Zoows=1.96 > tow5=2.015 > toue=2.971 > X ?o0ss=12.8325"

X oo =0.8312 (254 )

VSRR ORMWME N 2T B R es3s Ty DRl B S
< M (reference line)sps F (H = : ) )47 1. 07, 4. 06, 10. 00,
12.15, 16.12, 20. 36, 26. 06, 35.24, 39.00, 42. 01, 48. 36, 51. 20,
55. 06, 59.11, 61.18, 64.51, 66.77, 70.32, 73.39, 76.25, 79. 32,
81.11, 87.17, 98.85, 102.10, 107.90, 109. 95, 113. 45, 114. 76,
117.10, 119.22, 121.12, 131.24, 137.11, 144.23, 153.17,
155. 23, 158.29, 163.29, 172.30, 175.60, 179.65

Jvy

(= D324 5 epe > W iFize 8 fmend|id pF & I (time headway)

2 koo (64)



<t 5] 5 fﬁfﬁ n\%ﬁﬁj{zﬁ[ o FJ U IR S i s e A Ry I ﬁqﬁiﬁ?ﬁ& LINE [[=5¥" godtrain

=

(—);fa—?;’ AR B g2 T zifﬁﬁﬁﬁ*m(ﬁ//%)ml%@
(mean) -~ > #c (median) ~ % £ # (variance) 3 % £ % #ic
(coefficient of variation) o (124 )

= 2l \ i# % (arrival rate)T¥ P H R, &
()3t % T 3( 1 rate) THE & (T4)

P H 5 (One-way ) % ‘ﬁ;:/»\ #7 (Analysis of Variances, ANOVA)
S EZ2 AR ) TR I H R E %],,Pi%7 Bt (&35 R
kit s ST E CLBABREH S BRI BRE2 R
A1) o (254)

il Google 88 =t s PI-EBRAHR"
TRESLRENEH  ERRERRENA LS

BEENFETATHHF
TR —FIWEHE AR FRISHEE T
SRAB-ZEEFEHEV-HMEER
B4R EEEE © 07-2233812

gl - SEMMERPIE_K 2225 31822 2
LINE #&5% : godtrain

U EZEEZNHBERESERRERPREZADEREE
SRABBRNSUZESEER
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P L ER B 102 FERALFI B BB
DI

’

TFEALRER

1. 238482 448> #4502 ¢} 25/%;#3??0

2.7 %XV ARMPXATE > LT B o

3 EM LAY i EI A A

TH# = (T-test) i & § & &% A& ? + > & <_ (Chi-square test)
Qmﬁ%% NSNS R SRR SIS i SN

h

SRR I EGRE R B R B T BE R FREREAD
Lo GRERIR ﬁ'%ﬁ%éUW%ﬁ;%ﬁak*f%H%ﬁ ;

2OERF (X) b
(& 48) B
0<x<5 29
5<x <10 29
10 <x <15 13
15<x<20 4
20<x<25 4
25 < x <30 2
30 < x <35 1
60 < x <65 2

(- ) #BFFFHd Lo iz L8 1
(Z) FH2 45515055 R Find T0Rd § 2 E 5 -
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Z o BRE AT R

X | 2573 2224 2092 2047 2117
Y | 4007 3646 3464 3515 3470

FRXEY 2k ApH BB Ry ? (54)

)
- ) ‘T\»n‘l’ﬁrﬁﬁy =bg+b, X ? (10 » )
) 3 FF Fikp xR ®o=0.057 (B4 ) > *Fi L“}Eﬁﬁﬂ;@‘%ﬁ

¥ 7 (104 )

~é%%—iﬁ§%%é%ﬁﬁﬁ%i%?§@%ff
R 2 R PREAASBNCE R %ﬁuﬁﬁg;‘gﬁg)ﬁgﬁﬁ

kY

(Ef

a2/ 8

7

T aKPH) » Bl E4c™ £ 977 » B EEEFD Fo 2 f«rﬁ LA
TR REAF AR FLE=005T (B4 ) & TGHEA B

Czfur 72583449 :

@2 § | 23 (KPH)
A 72,78,85,70,83
B 72,83,86,84,75
C 65,70,71,63,62

FR R T2 TRABKRH, 2 TH2BEXH, 25i@? (5

Av\>
(=) e R B0 5w ? (54)

() w2 e5% 5 ? (154)

(=) %
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i FA e A

(i) o = 0.05
P(Fm,n Z Fm,n,a) = a

E

m,n,o
4 F B8 & Em
i 2 3 3 5 3 7 8 9

161.448 199.500 215.707 224.583 230.162 233.986 236.768 238.883 240.543
18.5128 19.0000 19.1643 19.2468 19.2964 19.3295 19.3532 19.3710 19.3848
10.1280 9.5521  9.2766  9.1172  9.0135  8.9406  8.8867 8.8452  8.8123
77086 6.9443 6.5914 6.3882 62561  6.1631  6.0942  6.0410  5.9988
6.6079 57861  5.4095 5.1922  5.0503 4.9503 4.8759 4.8183  4.7725
59874 51433 47571 4.5337 43874 42839  4.2067 4.1468  4.0990
55914 4.7374  4.3468  4.1203 3.9715 3.8660  3.7870  3.7257  3.6767
53177 4.4590 4.0662 3.8379 3.6875 3.5806 3.5005 3.4381  3.3881
51174 4.2565 3.8625 3.6331 3.4817 3.3738  3.2927 3.2296  3.1789
10| 4.9646 4.1028 3.7083 3.4780 3.3258 32172 3.1355 3.0717  3.0204

OOV

11| 4.8443 3.9823 3.5874 3.3567 32039  3.0946 3.0123  2.9480  2.8962
12| 47472  3.8853  3.4903 3.2592  3.1059  2.9961 2.9134  2.8486  2.7964
13| 4.6672 3.8056 3.4105 3.1791  3.0254 29153  2.8321  2.7669  2.7144
14| 4.6001 3.7389  3.3439  3.1122  2.9582  2.8477 2.7642  2.6987  2.6458
15| 4.5431 3.6823 3.2874 3.0556 2.9013  2.7905  2.7066  2.6408  2.5876
16| 4.4940 3.6337 3.2389  3.0069  2.8524  2.7413  2.6572  2.5911  2.5377
17|  4.4513  3.5915 3.1968 2.9647 2.8100  2.6987  2.6143  2.5480  2.4943
18|  4.4139 3.5546  3.1599  2.9277 2.7729  2.6613  2.5767  2.5102  2.4563
19| 43807 35219 3.1274 2.8951  2.7401  2.6283  2.5435  2.4768  2.4227
20| 43512 3.4928 3.0984 2.8661  2.7109  2.5990  2.5140  2.4471  2.3928

R R R

21| 43248 3.4668 3.0725 2.8401  2.6848  2.5727 2.4876  2.4205  2.3660
22| 43000 3.4434 3.0491 2.8167 2.6613  2.5491  2.4638  2.3965  2.3419
23| 42793  3.4221 3.0280 2.7955 2.6400 2.5277 2.4422 23748  2.3201
24| 42597 3.4028 3.0088 2.7763  2.6207  2.5082  2.4226  2.3551  2.3002
25| 42417 3.3852 29912 27587  2.6030  2.4904  2.4047 23371  2.2821
26| 42252 33690 2.9752 2.7426  2.5868  2.4741  2.3883  2.3205  2.2655
27| 42100 3.3541 2.9604 2.7278  2.5719 24591 23732 23053  2.2501
28|  4.1960 3.3404 2.9467 2.7141  2.5581  2.4453  2.3593  2.2913  2.2360
29|  4.1830 3.3277 29340 27014  2.5454  2.4324 23463  2.2783  2.2229
30| 4.1709 3.3158 29223  2.6896  2.5336  2.4205 2.3343  2.2662  2.2107

35 41213 32674 2.8742 2.6415 24851 23718 22852  2.2167  2.1608
40| 4.0847 3.2317 2.8387 2.6060  2.4495 23359  2.2490  2.1802  2.1240
45| 4.0566 3.2043 2.8115 2.5787 2.4221 23083 22212 2.1521  2.0958
50| 4.0343 3.1826  2.7900 2.5572  2.4004 22864  2.1992  2.1299  2.0734
60 4.0012 3.1504 2.7581 2.5252  2.3683  2.2541  2.1665  2.0970  2.0401
70| 3.9778 3.1277 27355 2.5027 23456  2.2312  2.1435  2.0737  2.0166
80| 3.9604 3.1108 2.7188  2.4859  2.3287 2.2142  2.1263  2.0564  1.9991
00| 3.9469 3.0977 2.7058 2.4729 23157 22011 2.1131  2.0430  1.9856
100] 3.9361 3.0873 2.6955 2.4626 2.3053  2.1906  2.1025  2.0323  1.9748
120 3.9201 3.0718  2.6802 2.4472 22899 2.1750  2.0868 2.0164  1.9588
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¢ 2 %f,fr%* £ 1038 & RAFLIT B
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5 R R
o0 w1 Rl AT A
7FL 2 2 i szt
TEARER
1. ARBER 43 23 E L 204 K 2F o
2.3 W PR T AP A TE > L eE BAR
SRR L R
-~ FERRE
- & X

WF g 4 ik < (Poisson) A fiz 0 @
w4 360 E R E &

AR E
SR
(-)EEx g4 hTofs £ELL 59
(Z)FFHE 282 Bl o iR ?
(ZOFFFER- 2 gF 2 Frmgl 42
53 a5

L A U
ZX
e f(X)=-——;;—-,x=o 1,2,3, -

CE RS LDRET R AN - 2T e g - (ml)r’ﬁiﬁﬁ‘%%‘ ,
f’*ﬁzﬁ%/}a}i,Lﬁ*{w%}ﬁw LREM A KT & & 21

B (mg/dl; £2/100 %) 5 : 92
tRE4

» Hom R /ELI’H:/}E
T iax,=49 > % T 33X ,=52 ;

S;=16» * &% % §,=18 -
(- );%‘TE»")‘L A = fﬁ%,};)ﬁrﬁQB%Tg i{ﬁ % B9
(:)’L%I\L_J}/\u-—”\’ gﬁé‘é’ﬁ?"i”Jm/ﬁ’%iT .Q.]i;l'ij.j;ﬁ
HEREZTF®TIEL? (GFRUBRRTNERT EUENRA
el > ap 2 )
T

—_—

005(20)_1 725 1:0.025(20):2o 086 N to,o5(40):1. 684 t0025(40)_2 021

~ Y 4% )_L ‘H
\3_"_.\

A R B
%‘r)ﬁﬁﬁ

FedB Al B R R e R («}Lp
LU%/* ,méva?F"*) 4o 4o
R A | FEE( /B FRL(RS/B) | FAK
A 114. 62 8. 54 31
B 110. 11 10. 68 31
FwENTRA [V I ehAtE D Zogs =1.96 0 Zges =164 >
Fso,so,o.ozs =207 5 Fya000s =1.84]:
(= )0t 3 123 A F A

| RUAFHFFZRE I TR ?

ERTICI
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(10 %)
(Z)d BRI ATRAIZA R E =2 TSR LR
(10 %)
(Z)d 42 Tog 2 BRI BGESRTES > 7 FRICEFE?H
EN RS (5 2
R R B RN HAARE Y 2PN 2 £ (capacity) §
2,400 pcu/h BOELEIY MR SRR T B R T R2 B fREcRF > e
TR e EERE R iz B k()BT i et A e
ENGEVEE 5 s L B
) FysBt - = o (5 4 )
—)E b péaitsk- & - (5 4)
)4
)

}ﬁ‘

10 ~ 42— = - (5 A4)
F P 4ofe I * feif & (goodness of fit)# T k473t R PFECE
aiﬁﬁﬁﬁﬁiﬂ’ﬁim@ﬁ%?ﬁﬁ?(MA)

1780 Google = i %gq:%% EPIL\,\%_%/A"\H% "

VREZERZGAEN ERRERABEBEN LBEOLS

BERRECtAZERR
TEIE—BWEHE SR D RIEHEIN
SRAB-ERGZMIBN-MEEN
EAERS © 07-2233812
Brashit - SEMIEERDPIE K 22258 3187 2
LINE #&5% : godtrain

M EZEEZHF

i

F*

MERESERRERPREZASEREE
SRABBENSZUEBLEEER

i
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PHERAT I EAT LS £ B

N
i \\\3
T‘:\
T

FEALLER
1AREEE 440> 54025 254 5 £ 2 F o
2.7 )R T AP AR IEE o BT BAE -
BE LA IEE ik HI AR o
- NS HBARE LR B RPN R 2 —'Liﬂa d B yiig ¥ (average free-flow
speed) > 7 1% T EPLEEIER T A FED R FERART > WEIP
g 2 ok B odmerIR gk 5 (spotspeed ) e iEw F YT R
(- ) ®3} outlier ? 4eiv R ? (8 4 )
()% WEFrefes 1005 - 2 T3y 78kph o & 2% X 5 7.8 kph» A
Tiofger =L iw? (74)
(=) Rwdg > ?ﬁ»#’“ﬁilﬁ*liﬂﬁ d @ nig F2 B3iEZ & 1.0 kph 2 0 7Y
IR ER R ARK? (10 4)
[ Hint : Z(0.05) = 1.645 ; Z(0.025) = 1.96 - ]
= S B AT S e R 2 8 5 % & Sodic (Probability Density Function, PDF) ¢
(— ) ¥ i 4 fie (normal distribution) - (9 4 )
(=) # % » fe (poisson distribution) - (8 4 )
(=) - & pe (uniformdistribution) - (84 )
= ‘;ff“f\b %éT;'JFFB%E:
(- ) f&fsm &~ k& & (Stratified Sampling ) ~ £ # 4 #& ( Cluster Sampling ) &
& s & (Systematic Sampling) zZ & &L R * (9 4 )
(= ) 4cim A3 3 % 994k ~ # (Sample Size) ? (6 4 )
(z) &9 3 23 H3F 5% (BRT) ez A RP 4L » 518 - - 3% o B3R &— 4
HEANFAR BRI BER Y hARG 6% BEd D A EEp
P~ 500 4 » Pt b i 55% 5] 65%2 B e 5w 7 (10 &)
N L T FAE T
() 2R FEEt AR Br 2Rl P L A S 90 0 RFpL 3 8%
%@%45ﬂThﬁifﬁﬁﬁm%iﬁﬁulm0ﬁ/ PR RO
voo B FEELAL BT 5D fpisiE 5 400 4R/ BF 0 P ORJEUE K A e
(Poisson Distribution) » 3% 4 :
L~ - Biddp 3122 4R7 4246 10 atframt&—f (74)
2 FIZBERH §BE 2 PP R F - (8 4)
(5)ii’ﬁ+ﬁﬁw'Vpﬁnﬁ%iﬂ&ﬁjﬂhkﬂﬁgﬁ°M@ﬁ%?ME(”E
2045 - Flg >3+ 8 @ ﬂ;ﬁ?a‘“ﬂiﬁﬁ?ﬁi '*H& 100 =x ) EBAFHR 2 A
=8 T SN Rk E S VR A Fp AR F AT G

2l st 1

-~
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AR Ee? (10 &)

Number of Vehicles Observed Frequency Computed Frequency
0 34 30
1 34 36
2 16 20
3 9 10
4 5 2.5
5 1 0.8
6 1 0.7

Values of Chi-square

pd R 1 2 3 4 5 6 7 8

20,05 3.841 | 5991 | 7.815 | 9.488 | 11.070 | 12.592 | 14.067 | 15.507

1780 Google = %' 41%Eplb\.m%/bl;\ﬂgﬁﬂ

VBESERZGEN - ERRNEREEERN LB S

BFEMaE CHETHERR
EEME—FWEHZ AR DR IREE N
BRAB-ERRZHEN-MEEM
EiREa 0 07-2233812

st - SEMIEERDIE " 222 58 3182 2
LINE 9&55% : godtrain

o

U EZEEZNHBERESEFRRERPREZADEREE
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P ERAF 100 FERALIF Y BRE

g d 25/\;1’—11?0
PXBITE » T BE5 o
7

A e o

- P RABEEIWE TR QFEN D R 0% 2R
ﬁE-éi;;a;r’v”M /J~B~;i—<w BA 2 F R * fLz2. 5 PIEV & PUR Eﬁ
3 PIEV & PUR T & chE & 5 @ 7% FE -+ A2 % >
&E@gm#&a’ BRETDE R LR T
“RLE R L ALERREF R P EFEAE j 2 (ITS) » AR
7R 7 sk ;F)I*ﬁ:;:,i—ixﬁ' X '3\" W R TAREREZTEITS -
CfER L (=45 A)
1. D-Factor
2. Isolated Intersection
3. Critical Gap
4. Occupancy
5. Ramp Metering
v~ L 3 AREF R ¥ 4 »dy #(Measure of Effectiveness, MOE) k =2

SRR ETR 7? & 03T R 7 e PRk B % & (Level of
Service, LOS) - W) HLP e 3) e %713k 5 (interrupted facility) 2 2
¥ * 9 MOE -

uf Google 8% =4y s PIv-E R A"
IREZERZHEN EREREREEZSN LB OIS
BFERNHFE AT EHF
TEIE—SWEEE AR L RIEmEIN
SRAB-ERGZMIBN-MEEN
HARERE 1 07-2233812

Bragihit - SEMIEERPIE I 222 55 3187 2
LINE #&5% : godtrain

Iy
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U EZESBEZNHBERESERRERPREZAZEHEE
SRABBRSMUZESEER
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P L ERAF 0l FERALFI B BB

r w1 Al H AT e
I A -
TEARER

Lié%%4%»ﬁﬁ%525@;#zﬁo
2.7 F RV ARAEP AR TE > B E BAES -
JEER SRS £ EEE A
- ~fERLWEFE (F LD A)
(- )3 ¢ % & (density) % @3 5 (occupancy) * = ¥ F # B % ?
t>ﬁ%%ﬁtﬁ%éx?¢~ﬁw%®mmﬁ“ 038 | 2
¥ (30HV) ~ # a5 p 2 i £ (AADT) %2 D #1% (D-factor)z
e 4 o

Q¢

(%1 T2 R S HEFA ST BRA 22
(e )il T8 = ] prigde % | (turn-overrate)2 R 4 & R * -

(1) it rsﬁﬂmw (TON) 2 4, & 22 45 % o

B B AR P P E WY BE - B
7 ol

S AN S8 L R B £ S
(Z )5 BA R ﬁég,riﬁé;,%% ; Q&ﬁ»’zrigﬁtq—% NV LTRSS

(ZHF/R e AR 3 273 T vF 28 ) (permitted
left- turn)éﬁ " 2 i | (protected left-turn) » *é',%z &
PPk e AR R R B AT
o AR - AR - X2 A EMFPRIE -



(= )pe &

._'].
()%t a e 1?—3@.»arfmz@éﬂrmi@fwﬁ#afé ? (4 p

=~ TM 2 S B4 f B AR S22 RFELGF DX
(?

¥Rt 20}k 0% L (Strategy Group and Actions
A

N7
=\
A
N

o~ L ENE G R < TGS %J FPiEa 7 % 23 MRT > e MRT £
S ‘%?%@lﬁﬁﬁiwm%ﬁ@mrugBRT@M,%7Jae 5%
s @k BRT 2 A A & 2 784t 2 (25 4)

1B Google 88 = exfd B Pi-Em R A"
SEH - SERERREEA LS

E%%ﬁﬁﬁtﬁ’ﬁﬁﬁﬁﬁ
EEME—FWEHZ AR DR IREE N
BRAB-ERRZHEN-MEEM
EiREa 0 07-2233812

gl - SEMMERPIE_K 2225 31822 2
LINE #&5% : godtrain
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P L ER B 102 FERALFI B BB

B E_,]J iirﬁﬁﬂ’ibﬁ-

B R 3 fRE E A

TEFALRETR

. 23350 £ 45> =520 2540 s X1 F o

2.3 Y PAL T A RALH % 0 0 b B AR -
3.77%’**%%“7%5’3&«‘51%?/}0

BRI G AR T IR R RS 7 R R T G
¥

= ~;§—;f»ﬂ9§f"i§ AN FE LY D T RERY2HEXERE
& eniE it
ﬁ*’]&r’?"

(* ) Free-flow Speed
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